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PHYSICS SSC-li
SECTION — A {Marks 12

Time allowed: 20 Minutes (Revisqd Syllabus,

NOTE: Section-A is compulsory. All parts of this section are to be answered on the question paper itself
it should be completed In the first 20 minutes and handed over to the Centre Superintendent
Deleting/overwriting is not allowed. Do not uee lead pencil.

Q.1  Circle the correct option i.e. A/ B/ C / D. Each part carries one mark.

®

(it)
(i)
(iv)
(v)

(vi)
(vii)
(viil)

(ix)

(x)
(xi)

(i)

When a ball is gently displaced from the centre of a bowl, it starts osciliating about the centre due to:
A Force of friction B. Force of gravity

C. Elastic force D. Magnetic force

The pendulum clock was invented by:

A Newton B. Galileo C. Huygens D. Faraday

In vacuum, all electromagnetic waves have the same:

A Amplitude B. Frequency C. Speed D. Wavelength
The intensity level of faintest audible sound in decibe! is:

A. 10 db B. 0db C. 100 db D. 107 db
Waves transfer:

A Energy B. Frequency C. Wavelength D. Velocity
Astronauts communicate to each other by radio links because sound wave:

A Travels slowly in space B. Travels very fast in space

C. Cannot travel in space D. Has low frequency in space

The equivalent capacitance of series capacitors is the capacitance of any individual
capagitor in the combination.

A Greaterthan B. Less than C. Egqualto D. Sum of

An object is 14 cm in front of a convex mirror. The image is 5.8 cm behind the mirror. What is the focal
length of the mirror?

A 4.1cm B. -82cm C. -9.9cm D. 99cm
Three resistors of 22 each, connected in paralle! are equivalent to a resistance of:

A, 3.33Q B. 0.6602 C. 6Q D. 12QQ

A step-up transformer:

A Increases the input current B. Increases the input voltage

C. Has more turns in the primary cbil D. Has less turns in the secondary coil
The output of a NAND Gate is zero when:

A Both of its inputs are zero B. Both of its inputs are 1

C. Any of its inputs is zero D. Any of its inputs is 1

The most suitable means of continuous communication between an orbiting satellite and
earth is:

A Micro waves B. Radio waves

C. Sound waves D. Any light wave
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PHYSICS SSC-I /9
(Revised Syllabus)

Time allowed: 2:40 Hours Total Marks Sections B and C: 53

NOTE: Answer any eleven parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly.

S - 33
Q-2 Answer any ELEVEN parts. The answer to each part should not exceed 3 to 4 lines. (11 x 3 =33)
i Sound is a form of wave. List at least three reasons to support the idea that sound is a wave.

(i) What is the Power of a lens?
(i) If the length of a simple pendulum is doubled, what will be the change in its time period?
(iv) On what factors does the LOUDNESS of sound depend?
{v) Which factors affect the ability of a CAPACITOR to store charge?
(vi) How will you charge an ELECTROSCOPE with a positively charged glass rod?
a. Negatively b. Positively
(vii) How many Watt-Hrs are there in 1000 Joules?
(vii)  Show the BOOLEAN expression, truth table and symbol for OR GATE.
{ix) What is the effect of a uniform electric field on the beam of electrons passing through it?
(x) What is the difference between RAM and ROM memories?
(xi) Which has more penetrating power, an alpha particle or a gamma ray photon? Why?
(xii)  How much of a 1 gram sample of a pure radiocactive substance would be left undecayed
after 4 haif-lives?
(xiii)  Can transformer operate on direct current? Why?
(xiv)  Describe three safety measures that should be taken in connection with the household circuits.
(xv) What is the difference between a Generator and a Motor?

C =~C 20
Note: Attempt any TWO questions. All questions carry equal marks. (2x10=20)
Q.3 a. Describe the defects of vision in detail. Support your answer with labelled diagram. (3+3)
b Water waves in a shallow dish are 6.0 cm long. At one point, the water moves up and down at
a rate of 4.8 oscillation per second:
i. What is the speed of the water waves? (02)
ii. What is the period of the water waves? (02)
Q.4 a Describe the «, § and y decay processes along with their equations. (2+2+2)
b. Three capacitors with capacitance of 3.0uF, 4.0uF and 5.0uF are arranged in sgries
combination to a battery of 8V, where 1uF =10 F . Find:.
i. Total capacitance of the series combination ) (02)
il The quantity of charge across each capacitor (02)
Q5 a Explain the following briefly: (2+2+2)
i. Browsers
il Transmission of Radio waves through space
ili. Thermionic emission
b. if a current of 0.5 A passes through a buib connected across a battery of 6 V for 20 seconds,

then find the rate of energy transferred to the bulb. Also find the resistance of the bulb. (2+2)
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PHYSICS SSC-II
SECTION — A (Marks 12)

Time allowed: 20 Minutes (Old Syliabus,

NOTE: Section—A is compulsory. All parts of this section are to be answered on the questian paper itsel
It should be completed in the first 20 minutes and handed over to the Centre Superintender
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1

Circle the correct option i.e. A/ B/ C / D. Each part carries one mark.

(i)

(i)

(i)

(iv)

(v)

(vi)

(vii)

(vill)

(ix)

(x)

(xi)

(xii)

A body has mass 0.5 kg. If the spring constant of the spring is 8Nm™ , what wil! be the time period of

the body?

A 12.4 sec B. 1.57 sec C. 16.7 sec D. 0.157 sec
The characteristic of sound by which a loud and a faint sound can be distinguished is:

A Pitch of sound _ B. Intensity of sound

C. Loudness of sound | D. Quality of sound

If the mass of bob of a simple pendulum is doubied, its time period:

A Is doubled B. Becomes four times

C. Remains the same D. Becomes half

Which of the following quantity is not changed during refraction of light?

A. Its direction B. Its speed C. Its frequency D. Its wavelength
The charge of how many electrons would be equal to 10uc ?

A, 6.25x10" B. 6.25x10'" C. 6.25x10° D 6.25x10°
The bending of waves around obstacies / corners is called:

A Refraction B. Reflection C. Diffraction D. Interference
As the temperature of a conductor rises, its resistance:

A Decreases B. Increases

c. Does not change D. None of these

The shape of magnetic lines of force in case of a straight current carrying conductor is:

A Elliptical B. Triangular C Circular D. Rectangular
Which among the foliowing radiations has more penetrating power?

A Beta particles B. Gamma rays

C. Alpha particles D. All have same penetrating ability
The output of an OR Gate would be 0 when:

A Both of its inputs are 0 B. One of its two inputs is 0

C. Both of its input are 1 D. Any one of its two inputs is 1

The brain of any computer system is: _

A Monitor B. Memory C. Control unit D. CcPU

The energy produced from 20 kg of carbon if it is completely changed into energy is:

A. 1.8x10%J B 1.8x10%J  C. 180x10”J  D. 180x107J

For Examiner’s use only:
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PHYSICS SSC-II y/-
(Old Syllabus)

Time allowed: 2:40 Hours Total Marks Sections B and C: 53

NOTE: Answer any eleven parts from Saction ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers

neatly and legibly.
SE N
Q.2 Answer any ELEVEN parts. The answer to each part should not exceed 3 to 4 lines. (11x3=33)
(i) A stationary wave of fundamental frequency 250 Hz has been generated in a medium. Calcuiate three
higher frequencies at which stationary waves could be produced.
(ii) How is sound produced? What is its nature?- R - .- -

(i) Why convex mirrors are fixed on the blind turns on the roads of the mountains?

(iv) The real depth of a swimming peool is 2m. What is the apparent depth of the pool if the refractive index of
water is 1.337

(v) What is meant by Electric Field and Electric Intensity?

(vi) State Ohm's law. What are its limitations?

{vii) A step down transformer changes 250 voits A.C into € voits A.C. If the number of turns in its Primary is
10,000, find the number of turns in its secondary.

(viiiy  Write down any three uses of Radioisotopes in medicine.

(ix) What is meant by Doping and Depletion region?

(x) What does telecommunication mean? Name any three means of telecommunication.

{xi) Define electric current. In what unit is it measured?

{xii)  Two bodies are oppositely charged with 500uc and 100.c . Find the force between the charges if the

distance between them in air is 0.5m.
{xii)  What is the audible frequency range for human ear? Does this range vary with the age of people?
(xiv)  Define Faraday's law of electromagnetic induction. On what factors does the induced e.m. fdepend?
(xv}  How many Watt-hours are there in 1000 Joules? o T

SEC = 20
Note: Attempt any TWO questions. All questions carry equal marks. (2x 10 = 20)
Q.3 a Derive the formula for the equivalent capacitance for a series combination of a number of
capacitors. (06)
b. Two capacitors of S5uF and 10uF capacitanée are connected in parallel. What would be the
equivatent capacity if a 20 V battery is connected across the combination? Also find out voltage
across the two capacitors. (04)
Q.4 a Explain the main defects vision of the human eye. What are their causes and how are
they corrected? (06)
b. An object 1 cm high is placed at a distance of 15 cm from the convex lens of focal length 10 cm.
Determine the nature, position and size of image. (04)
Q.5 a What is Natura! radioactivity? Explain the nature and properties (any two) of the radiations
emitted by radicactive isotopes. (06)
b. The half life of krypton is 3.16 minutes. Out of 100 gm of krypton, how much will be left after
9.48 minutes. (04)
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